Due today: QUIZ (absent make-ups)

Due tomorrow:
*Geometry standards review #20-30

Due Wednesday:
*14.1 part 1

#17-20, 21-350dd

(put on a new sheet of paper...more
problems will be added tomorrow!)




Notes: 14.1 (part 1)

Fundamental Counting Principle:
If event 1 can occur m different ways and event
2 can occur n different ways (after the first has

occurred), then the two events can occur men
ways.

—>use a “decision chart” to compute your answer!




APPLICATIONS

17-36 m Fundamental Counting Principle These exercises
involve the Fundamental Counting Principle.

®, 17. Ice-Cream Cones A vendor sells ice cream from a cart on
the boardwalk. He offers vanilla, chocolate, strawberry, and

pistachio ice cream, served in either advaffle, ktugar,or Plain

Eﬂﬂﬂ@}' different single-scoop Jre-cream cones can

you buy from this vendor? L’) | ,_é. _ @
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18. Three-Letter Words How many three-letter “words” (strings
of letters) can be formed by using the 26 letters of the alpha-

bet ifrepetitiomof lefters
@ isallowed? 2bc b Tk <207 =\17 974

(b) is not allowed?
2L « K. — i




19. Horse Race hnrse,s compete in a race. (Assume that
the race does not end 1n a tie.)

(a) How many different orders are possible for completin
e §1-4:5:052 1 = 9 \4p,550
(b) In how many different ways can first, second, and third

e

places be decided?
e I Ty
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20. Multiple-Choice Test A multiple-choice test has/five ques>
tions with{four choices for each question. In how many dif-

ferent ways can the testpleted? J_{ ol LI “’ L\
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Circle Facts

A circle is a two-dimensional shape made of points that are all
the same distance from the center.

Circumference = 21tr
Diameter = 2r

2 Circumference
Area =Tir

Diameter is Radius is

distance from distance from
one side of circle
to the other,

going through

center to circle

the center
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DISTANCE

d=(x;—x1)%+ (y2 — ¥1)?

Using Pythagoras’ Theorem this
formula is distance between two

MIDPOINT

_[x1tx2 Y1t Y2
”‘( z 2 )

The midpoint is halfway between two

endpoints. endpoints,
' 1
(3.4) (2,4)
(X2 ¥ {%1. ¥e)
.
= (2, d} ’
1+3 2 + 4
( ) d=J(Z2-172+(4-1)2
=y (1)° +(3)*
2! 2] =y1+9
[zl 3} :::;‘,:i:; =410 = 3. 162
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Find the length of the diagonal of this rectangle
A B

AC = AD" + CD’
AC = 5 + 12°
AC = 25 + 144
AC =169

Parallelogram

4




Check answers for geometry review:

20. B 24. B 28. B
21. A 25. C 29. D
22. C 26. B 30. A
23. C 27. C

*Be sure to show work and/or
sketch diagrams to prove
your answer Is correct!



